
        ΑΟΡΙΣΤΟ ΟΛΟΚΛΗΡΩΜΑ 
 
1.   Ορισµός
 
     ∫f(x)dx = F(x) +c                             F΄(x) = f(x) 
 
2.   Βασικά αόριστα ολοκληρώµατα

 
1. ∫ dx = x + c 

                xv+1 
2. ∫ xvdx =              + c  ,           v  ≠  -1 

                           v + 1  
    dx 

3. ∫         ln |x| + c ,                          x  ≠ 0  
     x 
 
4.   ∫  exdx – ex + c    

                          αx   
5.   ∫αx dx =           + c ,                        α Є  R+ -{1} 
                   ln α  
 
6.  ∫  ηµxdx = - συνx +c 

 
7. ∫ συνxdx = ηµx + c 

 
8. ∫ εφxdx = -ln |συνx| + c = ln |τεµx| + c 

 
9. ∫σφxdx = ln|ηµx| + c 

 
10. ∫ τεµxdx = ln|τεµx + εφx| + c 

 
11. ∫ στεµxdx = ln|στεµx + σφx| + c 

 
12. ∫τεµ² x dx = εφx + c 

 
13. ∫ στεµ²xdx = -σφx + c 

 
14. ∫τεµx εφx dx = τεµx + c  

 
15. ∫ στεµx σφx dx = -στεµx + c  

 
                 dx 

16. ∫              =  Τοξηµx + c 
       √ 1 - x² 
       
           dx 
17.  ∫              =  Τοξεφx + c 
         1 + x² 
    
           dx        1          1 + x 
18.  ∫            =        ln                 + c 
         1 - x²      2         1 - x 


